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(3) A
A - I/PART -1
a1 fgs™ ud RTEnemER/ CHILD DEVELOPMENT AND PEDAGOGY
B : Feiffe gt & anv 39 # fv g9d afed Ay g0/

Direction : Answer the following questions by selecting the most appropriate oplion.

1. Frsirmeren § @om @ "@EEm 24 % fom 1. To cooperate the adolescent it is
HEES % essential to
(1} s (1) Inspire
(2) Tl (2} Indicate his mistakes
(3) STErE HTA (3) Criticise him
(4) “THIHE del? HEAl (4) Do negative behaviour

2, UF WE & AEEAHT &G STHATTE & 2. Which of the following is not a
s T Prefeieg ® # wE-A giE suitable technique used by teachers
IUgE 7E 7 for socializing the child ?
(1) wege famm (1) Direct teaching
(2) TEEEET (2) Identification
(3) WA ST (3) Democratic discipline
(4) AR-HTET (4} Over-protection

3. UF RO % @aul & fEmm ® FreiEEm 3. Which of the following is a wrong
4 H Tod w9 Eonk: i A gtatement” dBout™ emotions of an

adolescent 7

(1) @3 SivEEn AT a8 gfvafda (1} Emotional expressions are
Bt 2 ified by learning:

(2) T wEE g g I tions sire permanent.

(3) W HAT A O WEA gl Bl

Wety emotion is accompanied by

a feeling.
(4) AT TR T | A e &1 {4) Emotions are aroused by external
stimuli,
4, wOfFT fimnm & owd B 4. Inelusive education means

(1) =fFTa Pt FOAE e (1) Meeting individual differences in
?-f T FHT general classroom.

(2) afFrE o @ R e (2) Meeting individual differences in
¥ O different classroom.

(3) e frmeal &t fafire Rt (3) Meeting individual differences in
q qu HE special schools.

(4) @R el Bt a9 SR {4) Meeting individual differences in
T i HT home based instruction.

Level-3/164 P.T.O.



5. Feimen § @aer a wief W owEd
FE q9E 9 &
(1) fares @1
(2) wrn-foar &
(3) w5
(4) =wreEt &=

6. BRIl ¥ W qwlt 1 wweE W A R
B = o B, aft averes

(1) F-A g4 % a9\ F: )
(2) ©d I 9T A= HL
(3) wert =Rl i Fefr ga
(4) 1-Eared 1 A #1)

7. R e afe & ¥ drgand o
wa FrefE & § wes 2, o B
(1) o ST 9T F |
(2) ofm @ren, Rww, geEe ok

Frepd e |
(3) %Y I+ H ST Pty w0

(4) wfifn it Rt & s 50
8. oWl ST areE B

ETT F1 WA ffy #
() o=l (2) ST
(3) mo=E:  (4) Frdame

9. FM=fafas & @ @ Bdaen &
AW e & O e g E 7

() 9% 99 ¥ & & dHd A
el

(2) B i & oy st o
(3) B wadt & 9rf 0 S

(4) fafire sfedi § frem 2

Level-3/164

(4)

In adolescence behaviour and attitude
are affected mostly by

{1} Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral effectively
inculcated among the students when
teacher

values can  be

(1) Frequently talks about values,
(2) Himself practices them.

(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses,

Critical thinking helps a person in
developing abilities and skills for
(1) providing concrete experiences.

(2) proper interpretation, analysis,

evaluation and inference.
(3] creating and

4) thinking about ways of reacting.

constructing

thod of dealing with adolescent
ntgand teachers is
(1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is not a

characteristic of social development in

adolescence ?

(1) Active member of their peer
group

{2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests



10.

11.

12,

13.

14.

(5)

uF AT a9 99 By & wE FE E;
5 @ o 1 forae, @@ BEE W
FA

(1) AMFT T
(2) FEmeE Z=EEn
(3) e Sdelt

(4) T P il #
T AT R e B

(1) g% o |
(2) et & e Rvem @

3) w8 gET (dF) g A
(4) TR O A

‘god oK A gEET (CCE) #

R

(1) dae aEF F AT BT
F |

(2) o 3wl 98 1 S F

(3) Faw o/ 6 B g w5 |

(4) o B @ GUH HGEEE |

Frfofad § @ F-6 FomS

%1 faden () 767 & ¢ wa

(1) Fewm

(2) eiferea

(3) Fergpea

(4) S

arftpm sfaes @ ared B

(1) 9% & ZEeR § 8 e 9iEe |

(2) s @ o BiEd 3 ofted |
(3) TNEEER] AR

(4) "rEgER] I B

Level-3/164

10.

11.

12.

14.

A

An adolescent uses herfhis left hand
for performing act like taking food or
writing, this is developed due to

{1) Inherited behaviour

(2) Developmental behaviour

{3) Wrong behaviour

(4) All options are right

Disealculia is a problem related to the

problem of

(1) Speaking accurately

{2y Writing
mistakes

without committing
(3) Listening message properly
{4) Doing mathematical caleulations

Continuoug  and  Comprehensive
Evaluation (CCE) aims to evaluate
(1) The reasoning of child only.

(2} All aspects of development of
child.

{3) Mhe know ledge of child only.

(4} The understanding of child only.

f the followingis not a trait
of acreative child ?
) oration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outeomes means

(1) Change in the behaviour of the
student.

{(2) Change in teaching method of the
teacher,

(3) Recognization of the
matter.

subject-

{4) Completion of content.

P. T 0.



A

15.

16,

17.

18.

Hewl 1 i e aag a & 7

(1) = & 579 & ¥
(2) SEmEen & v

(3) Resiraen % 3
(4) THEEE F AN

I P AT B A g s d
ﬁwfgitaﬁﬁ_aﬁﬂ-mmﬂmacrgqﬁ
TR ?

(1) T At 1 e 2 e

(2) I99F g T w avere a0
AT e |

(3) 3 Ffa () w1 T =i
(4) FFTET afEd s Tt

Bl & g, i s & sEuEhe
m%mﬁr&mmwaﬁﬁ
?

(1) SEEAEE 39N
(2) SR 39
(3) wufed Iwrm

(4) st FuEm

AN wEE e gfe W@
frefesy ot 2
(1) 99% F TETT A

(2) AwE & Ao R &
(3) 9% F arifes Rem o
(4) =% & wEghE FEm [

Level-3/164

(6)

15.

16.

17.

add

18.

Differentiation of emotions takes

place at the time of

(1) Birth of child

(Z) During infaney

{3) During the period of adolescence

(4) During adulthood

Which of the following provision is
not suitable to meet individual
differences among learners ?

(1) Their abilities should be assesszed.
(2)

Adequate facilities and material

should be provided.
(3) Labelling them.

(4) Making Individualisation NECESEATY,

Working with adolescents,
padticul5¥lyial®djusted one, which is
not appropriate ?
itical approach

oeratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

(1) Emotional development of the
child

(2) Social development of the child
{3) Physical development of the child

(1) Cultural development of the child



(7)

19. UF o s § fo dred # e
# AE AEEE €, JiE

(1) 3AH oFaRE & TE § HEr
formet &1

(2) UEgERg @ UEE AW A wer
Prreedt ¥

(3) UEEAE ¥ A a6 § e §
Heraar foe #

(4) SEY T I a99 A B

T F w4 Freeiaian §
q F9-4 Bdwa @ e 7

(1) PRwEwEa  (2) g

20.

(3) Fgm (1) ST
91. Ffifadl #Faaa & Femfas § A
FA-d fadan g 2
() BEt BTG AR g S,
Frepd feeren o7 e Pl =i
A | _
{ﬂrmmﬁw,aﬁahmm@%;a
(3) S AEEHTE FWOBE
AT Fa 2
(4) BE ‘@’ I F A E
29, Fyefafs § & @9 Sfm 1 OF
qFEEE B i A g
Frm & 7
(1) a3 # FaEg
(2) ey # e
(3) TR @ e
(4) wigfa & Fram
Level-3/164

19.

20.

21.

dd

22.

A

The of
learning is must for a good teacher,

knowledge of principles

because

(13 It helps in maintaining discipline.

(2) It  helps
interesting.

to make content

(3) It helps to understand the content
by simple methods.

{4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?
i1} Reliability (2) Objectivity
(3 Validity {4) Subjectivity

Which of the
characteristics
elassrnom ?

(1) Students ‘design  experiments,
draws conclusions and compare
their findings.

the

constructivist

following is

of

ledge is ohjective, universal
complete.

(3) Teacher transmits authoritative
knowledge to students.

{4) Students
answer.

look for the ‘right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

{1} Law of analogy

(2) Law of exercise

(3) Law of assimilation
{4} Law of disposition

P.T.O.



23.

24,

25.

26,

27.

U ATTEF F GANREA F T AT B,
FHENE I I 2 oW amthE
P # WY SR B, 9E T

(1) o7 39 o=

(2) o= Tl o

(3) FafEE s

(4) W99 49 FafEE oy

I8 AF A a A Rl e
oW F0, FERE w0 T s
@ F g9 F 8, Bear

(1) s (2) S

(3) sifimf (4) oy

Y FT U a8

B o ¥ i o o

(1) 3z a@fer (1.Q) &t &

(2) i ol (A.Q) B B

(3) @i 7 (B.Q.) & &

(4) smafers @i (5.Q) Bt &

e G R @ 99 9 T e
& &, B @1 92 Prera Team B

(1) famsd & ety

(2) AR (=T & T # o)
(3) AW # fafie

(1) P

Level-3/164

23,
24.

25.

dda

27,

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

{4) The sensory motor period

A child is average on creativity, high

in academic achievement, poor in
social development. This is an
example of

(1} Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4} Measurable individual differences

That internal state of mind that
arouses, directs and maintains
behaviour = called as
(1) Interest  (2) Opinion
Attitude (1) Motivation
ople adjust easily with new
nause they have high
(1) Intelligence Quotient (1.Q.).
(2) Academic Quotient (A.Q.).
(3) Emotional Quotient (E.Q.).
{4) Spiritual Quotient (3.Q.).
Development generally proceeds from

head to foot, thiz principle of
development is called

(1) Bilateral to unilateral
{2) Proximodistal

(%) General to specific

(4) Cephalo Caudal



28,

29.

30.

e aitgH
0 o WF
EIElER)

o BE 45 i 3
F W B IES M

M 9T Areragtea 29
T oY

(1) R HOm

(2) =

(3) 7wt S

(4) S T 9w uen

Al #fea um 3w F
Fyifaiige & off 9 ToT & 98 ¢

(1) T& afrmEar & araand, awes
alrr sferm Il 1 e T 2

fera
g

=

(2) T8 oY, A SN @9 &
e T &9 37 &

(3) 9% AHNE A @R #®OAE
AT G/ gl £ |

(4) TE SFTHASH-SATH, HHEA-FE,
TIOGAEES  qd  geei-erE
3t Rt w1 e F E

“4 Trdl @ wEE el e
gl aW a=i F @ W@
Fad & 7

(9)

28,

29.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks, This is

(1) Intrinsic motivation

{2) Extrinsic motivation

(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ¥
(1)

learner's
and

It takes into account
capabilities, capacities
learning styles.

importance of

and

It stresses the
enquiry,

investigation.
(3 It emphasizes transmitting
knowledge to the learner by the

teaches.

(2)

ohservation

1t uses methods like experiential
learning, problem solving, concept
a'mg and creative writing.

attitude 'l 'do not care' is a
type of behaviour which can be
called

(4

(1) ATFEHFAT (1) Aggression
[§'] g&ﬂ?ﬂﬂﬂ (2) Defence
(3) ST (3) Denial
(4) 9¥ETHA {4) Retrogression
Level-3/164 P.T.O.



(10)
T - I/PART - II
T - 1 (1) / LANGUAGE - I (HINDI)

: et gt & a7 31 2 e gaR ot A gh)

31.

32.

33.

34,

35,

o [Ew F qEE
(1) Reafm = g + B3
(2) THAEUR = JHA + 97
@) 79 = 79 + &

(4) EEFE = 47 + 1Y

‘T’ = B9 o @ R 7
(1 3 (2) T3

(3) 3 (4) &Y

‘Te 0 9T o fe omn @ - @ R

0% 9= g

(1) TR

(2)

(3) AT

(4) A
'ﬁhmﬁ?ﬂﬂﬁﬁﬁrﬂmmwa
% R o 9= &

(1) Ffear

(2) styaf

(3) Siftreafe

(4) =G

Frst o=t & & $m-m o2 w7
(1) T

(2) T

(3) wERY

(4) 9F=

Level-3/164

36,

a7.

dﬂ_

39.

“Off g o A F f e we =
0 a9 ¥ @ Ew B

(1) &= o

(2) ¥GRgAY TR
(3) HRE™ g

(4) Y e

T o= sffed & @ f @ gy
B - % fou e o= B

(1) =g+
(2) FHH

(3) Y g3



40.

41,

42,

43.

K wm owm ogw g W OO #
rReE WE EE
(1) oot g

(2) WA

(3) A T
(4) wimg s

FE F e A W m A 7
(1) sy

(2) WHEE=E G

(3) Tardaor

() T

FA-A1 9 O W e a8y e 7
(1) ®ES

(2) RfirEm

(3) =9

(4) Tafsr

“ia’ = &l del e @

() T5 + 7

(2 T6 + &

3 T6 + I\

4 M+7

‘GrfleaT’ o= | W de e g
() arf + sET

(2) i + de

(3) A + @&

(4) 9 + 39T

Level-3/164

(11)

45.

486.

47.

49,

fedt &1 ‘&’ i s 9t 3 H B

(1) STFT-HHN

(2) HEMTT-HHY

(3) ST~

(4) FETSIOT-3HY

‘qEE’ 9= | IUgE N EOEE
L4

(1) fecimn wwgsa

(2) el Sgen

(3) 9=l TgEd

(4) =gl wegEY

G T T T T T BFG, dT AT
a7 @ q, dm, dwe - Al @
o @& ad @ =5 Fif

(1) EE B A F [

® T..%a,ﬁﬁ']ﬁiﬁmﬂmw{ﬂ%
(3) STELTF AN A of 49

dadazus
a :

(1) g
(2) Fam
(3) HAEEE

(4) R

o e F g
(1) Y-

(2) IEHT-HEAT
(3) e
(4) nfor-zrEo

P.T.O.
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50,

61,

52,

53,

54,

‘T’ W o 7
(1) o
(2) T
(3) S
(4) o=t

‘TIH OF IEERN B R
A % M afew 9= #9951

(1) &=

(2) 9144

(3) TF

(4) 3

P s= #§ sdar g w0 owdm g
ESME ?

(1) FEET

(2) o

(3) e

(4) FeiegiEriey

S 9 W gfT 34 B 2
(1) R

(2 37

(3)

(4) st

?-? g § Rl d@f w0 w787 gan
(1) TemvEd

(2) fErm

(3) IR

(4) weIE

.............

Level-3/164

(12)

55. OFgw T AR 9 wifey
(1) =EHIAE

(2) i

(3) WHEITH

(4) HoRIES

R : e e & w6 9v s
98 7 gel (geT 7w 56 6 60) # guv o -

A
ow 3 =
% S

idy 1t

g
3

A ¢ R o
T8 Tl Tmm 8 W9U F gy

8 i wa A g g

Mg dRemeat @ shwr g W=

WAl 7 @ @ o e ARw e

T #) weER @l g e g 3 ow

# B &9 T mew F@ % By 9 =



il # gl & & § A w9 gon
gl s =i § 939 Rrera @ ooer oAy
o P oERT N 9T we ofiEn & e
Feel /A gAY AR &) WAy @ B

¥ 3 g v wwiea & 0 & e 9eg W
% w9 ¥ IET H9T T

T FTE @ A oan @ 5 8 ooe
F T%EE F BlEHC 9 T AN TgE
g ® o dwrin i JEee e E
Ao gREmEl $ SR AT e 0%
T T O T el # Reiwer & Qe
o) 9REeA X oftAee @ i den wd 4
W WY W % TN W FP O g
an REE g P guiom e oo of
a9 T §

Tal T wd ¥ B oo # g Tww
e # @fEen w6 _ger ve Wy %
e 78 & & Aol o oiR seee ovum
A WY B | W 4 g
v NN B AN R q9E dolg A Feat §
Y FN 0F A @ & 4 g e g
R o eder ol Wi 7 T @ o g
dfes & & 0@ af & R 2y oA
T B GGG ST dRgE e B
0 HEEE g o o 98 & oot
% &% | sEmes A @

56. W w9 # e &
(1) @R TIER
(2) s frdrg
(3) TN & @Y qitEd
(4) & faeg g ¥

(13)

57. e gw fadndr 2
(i) FEE TR &
(i) HEAH TUEE F
(iii) vt e &
(iv) gtz fawus oftgemr &
afea I A 5 gfT
(D) () & (iv)
(2) (i) OF (iv)
(3) Fae (iii)
(4) Fa (i)

AT & TAaE O SR R
ROR K (2) T
@ Tt 0 4 A

dda?®!
(2) Frar

(3) =R
(4) witm g9

58.

EEEaET A § dfes Berm §
(1) ey

(2) 99U H FEMEA

(3) i B Feat § @E F
(4) e o R

60,

Level-3/164

P.T. O,
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HAT - I/ PART - 111

AT - 11 (HA)/LANGUAGE - I (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correet passive form of
the verb in bracket in the given

santence |

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

{4) was being watched

I must finish this.
The underlined word in the above
sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the wora is
given :

Copi.......... = Plentiful

(1) ous

(2) some

(3) ose

(@) ful

Level-3/164

64.

65.

G,

1 don't enjov poing to the dentist.’

The word ‘'going' in the above

senténce 18 a/an

(1} Present participle
(2) Infinitive

(#) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence ;

Mother said, "Don't go to the park."

(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the

a d er said us not to go to the

park.

{(4) Mother said to us to not to go to
the park,

Which of the following expression
means "extremely happy' ?

(1) be a basket case

(2) fall off your perch

{3) be off your trolley

{14) on cloud nine



67.

68,

69.

(15)

Choose

construction of the sentence :

the correct passive

Auctioneers will sell the painting at
auction,

(1) The painting would be sold at

auction,

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auection.

Identify the figure of speech in the

following senténce :

I must be crdel, only to be kind.
(1) Epigram
(2) Paradox
(3) Analogy

(1) Metaphor

Which of the following words is mis-
spelt ?

(1) incongruous
(2) chronological
(3) synchronus

(4) eympathetic

Level-3/164

A

Direction : (Q. Nos. 70 to T4) : Select the

sentence that is grammatically correct

70,

71.

72,

{1) My brother is the student in
Mayo College.

My brother is student of Mayo
College.

(2)

(3) My brother is a student in the

Mayo College.

(4) My brother i a student in Mayo

College,

(1) Neither of them were present

there.

ﬁer of them was present

(3) Neither of them present there,

(4) Neither of them are present

there,

The roses smell swest,

(1)
(2)

The roses smell sweetly.

(3)

The roses are smelling sweetly.
(4)

The roses are sweetly smelling,

P.T.0.



73. (1)

(2)

(3)

(4)

74. (1)
(2)
(3)

(4)

75.

Choose

You certainly did not ought to do
it.

You certainly ought not to have

done it.

You certainly did not ought to
have done it.

You certainly ought not to have
been done it.

Who was the book given to ?

Who the book was given to ?

The book was given to who ?

(16)

Whom was the hmkgi‘mntu?a

the correct  phonetic

transcription of the word 'Locate’

(1)

(2)

(3)

(4)

Nuket/

Nakeit!

Nou'keit/

Nauket/

Level-3/164

76 Choose the correct direct speech of

77.

78.

the given reported speech :
He said I'd better go because it was late.

(1) He said, "You'd better go because

it's late.”

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late.”

{4) He said, "You'd better go because

it was late.”

Which of the following -is
correctiv?

spelt

(1) Pediatrician
) Padritician
aitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article

‘the" ?
(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing ammals',
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is
correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said [
was too young,

(2) My father down put the foot when

I said | wanted a car for my
seventeenth birthday. He said |
am too young.

(3) My father put his foot down when
I said 1 wanted a car for my
seventeenth birthday. He said |

was too young.

(4) All options are wrong

80. Since you weré not there, 1 left a

message with your sister.

The underlined group of words in the
above sentence is alan

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate oplion ;

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how
many wits, how many geniuses, how many

Level-3/164
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A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
of all

requisites 15 the utter absence

pretension,

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronouneced to be
'fairly worth the seven'. It is a kind of
mental instinet, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot prongunce on, what we do not
Knew; and on the other band, the laying in
of a stock of knowledge, or mastering any

warp and trammel the

aﬂ“
a of mind which is

necessary to its receiving and giving their

ms. to destnoy that native

(ilid]

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
{2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T, O.



B2. What is not a requisite of common
sense 7
(1) the utter absence of all
pretension
(2) bigotry and narrow minded
notions
{(3) truth and propriety

{4) an unbiased freedom of mind

B3. Which of the following is not stated

by the writer in the passage 7

(1) Affectation destroys common
BENSE.
(2) Common sense requires the

utmost simplicity and sincerity.
Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

(3)

(4)

84. Fill in the blank with the
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the

BEVBIN s ponsviissinunsians ;
(1) Notions
(3) Talents

(2) Seciencea
(4) Wits

85. Which is not a synonym of the word

‘pedant’ 7

(1) dogmatist
{(2) formalist

{3) perfectionist
{1) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

child should learn to read and

(1) All
(3) Whole

(2} Every
{4) Both

B87. Can I ask your ...........,

TV viclence 18 harmful ?

do you think

(1) opinion  (2) favour

(3) question {4) advice

88. Where is my wallet 7 I left it ...........

the kitchen table,
(1) at (2) in

{(3) on 4) by

r'l'l

some medicine and the pain will

ack

{3 out
90. The walkers finally arrived at their
destination. They all day, and
they certainly needed a rest. They
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/164



(19) A
T - IV/ PART -1V
HEA/SANSKRIT
ﬁé‘w:ﬁﬁﬁ%ﬁﬂﬁ?#aﬁr#%ﬁqﬂ#mﬁwﬁmgﬁm
91 “mH @ FEV A o 99. ‘T’ 9= § fH-61 FEC L P
F4 BN 3599 R B 7 (1 e (2) g2
(1) e (2) wEgR (3) T% (4) fore
(& (4) i 100. 39 HF 1 T T Ay 7
02. B § & ‘Femmy gefm b (1) awm (2) o
(1) 9w B e A (@ @ @ fam
(2) ity & 101. ¥ AgaT weE # e o
(3) Ts== | %‘Lﬁﬁ
(4) g § {1 T T gy
(2) O T geEg A
93. ‘T’ 9= ¥ P-a gy ¥ 7 (3) AN T grEN
E;; EE! (2) ;EI (4) Y el ggeTg A
T (4)
- . 102, ‘S=ER UE FH-4 FE 8 B 7
" (1) ﬁiqﬂm% (2) & LR
(3) I ) m (%) mﬁﬁa (1) E=EEaeTy
95. wmaghr #/Fm @ & sRa R S e
s % e .2 a b ¥ U R
(1) 5o (2) fadm H§+fffra+ag§
(3) = (4) =y () 3 + 7Y +
95—%*@*%%@@ ‘ﬁﬂﬁ'ﬂ'mﬂﬁﬂmm
R (1) =@ =g (2 Mg oy
(1) oy (2) FIAEH @ MEy (9 B ey
(3) wifel (4) T 105. ‘Tl & 99 F &
- 3 ; (1) ;qu (2) My
. A & A (3) 1)
(1) i (2) BT ﬁ:*-m ™
106. ‘‘FemEATE "
(3) FFEWEE  (4) PEey ﬁﬁw & W aE wan
98. ‘i’ = F P Ay R ? (1) T 8 A
(1) =& (2) gEEm g; E’%E ﬁ
@ I O (4) ST wier
Level-3/164 P.T.O.




A

107.

108,

109.

110.

111.

112.

113.

114.

‘g’ g § FE-E g § 7

(1) @ @ @9
@) 4 (4) =

gfz aTRer T I G ©

() gfemdy (2 FRAE
(3) SR (1) R

Sl dlErET T
Foe g ded dapm & ?
(1) feefm = & ¥

(2) TH & T

(3) Hrr-fame

(1) FgHN =T

‘A s # A A g R
(1) Fad e

(2) etad

(3) ITHI W

(4) TeiraeE

g qam RrEfEee gEiEnTET
i & -1 8% wied 8.7
() RrEfl (@)
(3) ST (1) et
A ST # e ® A
Ky

(1) T B

(2 e

(3) o B o P a
(4) ¥ HCA

i g | e e R 7
(1) & (2)
@) = (4) 3
TEd HF &

(1) =8 o @ fm: o
(3) =y (4) FwEm
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115.
116.

117.

118.
119,
120,

add

121.

122.

123.

‘qrEaEe: # a9l aeE
(1) T 3 g (2) O o4 A

(3) a9t (4) T frar A
‘apriiaE’ § FE-w G0 2 7

(1) TG (2 T3

(3) F=dEE (4) AW
rm:%

(1) =T (2) TF

(3) eH (4) 3F

T’ g/ § #-T A B 7

(1) 39 (2) =9

(3) = (4 &

i’ o R e F R R 7

(1) ferzeemT (2) oo
(8) FleatHi{ (4) FETET
FrE g 7 Be-E e © 7
(1) o9 (2) T

(1) =1

F PO HT S99F F AY 30
a¥T B FEw £

(1) sfaedfE (2 FRA

(3) Iatam (4) =95

“q 9 4 g gad afeen i §
‘i B o aad B 7

() A%EE 8 (2) FYEE 9

(3) T 4 (4) AT HTA A
o § Frae g6 8 7

(1) 24,000 (2) 34,000

(3) 20,000 (4) 10,000



124,

125.

128.

127,

128.

129.

130.

B @ @l 3 o ¥ oamg P
R B 7

(1) F=dl o sdafa

(2) Fugm A Rrgeae

(3) Py ot sty
(4) ToTEEl ST TS

AMER? s A
(1) Fwdrrefay (2) et
(3) T (4) FEEHTT

‘qiee = § g ¥
(1) FHgy (2) fay
(3) TYHT (4) =EAife
AT S ¥ A e
(1) o ot

(2) GIWG%IEE

(3) 9EIH A e A
(4) = o
Ao e o b
(1) F: e

(2) 7 g Fve:

(3) W w9 g| [

(4) im: TS Fve:

‘ST’ Rem we @ R ¥ o7
(1) 74 (2) H&r
(3) M (4) f&
T Fag #
HF = @
(3 9 = B

27T = 7
47 x 9
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131.

132.

133,

134.

ad

136.

137,

138.

' ' Aes A
mﬂwﬁﬁwﬁwa
(1) fae w

(2) g o

(3) e o

(4) & w8 7 foe o 21 §

‘HET 9= ¥ fe-a gy 7
(1) g @ 9
(3) =g (4) ¥
Y 9= # g RefE w@ o
FE 7
(1) = (2) =
(3) = (4) #rg:
‘g ey g e b
(1 T i o) g fvfe
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‘G -8 R e &7
(1) gEF /T (2) g
(3) whfef (4) & Foit &
“gAE it Peifted @ g
g e aufeg 4 % 7
(1) g¥Mefmg  (2) FEfeg
(3) Frafg (4) FosHNg
IO ST & g B
(1) TEERY (2) IEeTies a2
(3) forg (4) TT-I9HE
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6. Answers |0 questions in answer sheet are o be given
by darkening complete circle using Black /Blue ball point
pen as shown below :

o e 0O @
The answer will be treated wrong, if it is marked, as

given below :

@ @ © &
1f you fill more than one circle it will be treated as a
WrOng answer.

7. Rough work should be done only in the space provided
in the Test Booklet for the same.

B. The answers are o be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No whitener
{white fluid) is allowed for changing answers.

9. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened

completely with Blue/Black Ball Point Pen on the OMR

Answer Sheet, The answer once marked is not allowed to

be changed.

The candidates should ensure that the Answer Sheel is

not folded. Do not make any stray marks on the Answer

Sheet. Do not write your Roll No. anywhere else except

in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as

under no clreumstances (except for di ancy in Test

Booklet and Answer Sheet Serial No.), another set of Test

Booklet will wot be provided.

12, The candidates will write the correct Number as given in

the Test BookleL/ Answer Sheet in the Attendance Sheet.

13, Candidates arenol allowed lo carry any textual material,

printed or written; bits oi papers, pager, mobile phone,
glectronic device or any other malerial except the Admit

10.

n

Cardginside the examination hall/ room.
i must show on demand his/her Admit
) to the Invigilator.
. 'without special permission of the
ntendent or Invigilator, should leave his/her seat.
The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Gheel second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case, Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be property inked i.e. they should not be
either over inked or dried in nature,

17. Use of Electronic/Manual Caleulator is prohibited.

18. The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

19, No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

20. On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.

16.
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